B sr MK IREAE T X

S=1:500

l ’_ —_—
’ //c\%\ ! liﬁrl o x]fas0 A\ 1
i )} 11500 x 1400 500 % 1400
| “\7_4,//(l 75_,// L:91Ax20m ."‘ “\93// =12.50m \ m N L=X&Ak0m \
\ ? ’ 94. 40m °—$ \ Ij 53. 20m \
Fo , 4 29 82m —z
3 S8 g E
? gm 2 n 0. o
l ER HE 66 g0m g® g
TNE I HE TS )
(8 ) . SH 1 19 . S —_
Nave BEESSC 211 1S =N
- . (/ | [ES] (=) "
—_— 7o\nty % z (ﬁt\ 5 oY -
1, g IR " o
% S = 5 Nl i3
| - - M
el - 1\ = . =
NMYNF %“O’ S, T; o e | ! - l—- s C = e —
2°  (aakmr Sgle 5 e Y/ .8 _J \_ = )
. (S\) mm\—w I 1 e — : > /
\\4 o \ Gl 2o s =g b
-0 - Z <. A 1h
g S : 7 » o o <] {5 &m
- & < _ 2 Lk =S -
22 S | A 8_63, 5.4 . JUN D Y , égf) 725/7\. i s
o S 7 | . RS - - 1 6o —
- : I = ) - 4 Tl \ W =
= = > . = !
. =\ 50! \4/‘\/[{(15 0 \ 3 P T 4 \a'po - ( j | G435 | | = “ Dep=36. 42n
B)AP ' A g R el e "1
o 4 > L . {C ° _GEI;\ B
v _ ) . b H =)
o~ A () St
it "\ o i
1 S 3o g
W = ER ' E
7 =3 = T S
7 / {2 :
\ V \’ ’x \V/
((//;i:\) 11500 x 1400 \ “
N\—_7 1=32.40m \
[E3
= = B AL = _q-
BREY T RETIRIZ M B  S=1:50
C— CEE' X
(oo
N\
4200 XBMIZSATJIIBH. 1(H=162. 515) %
1900 2900 0 3800 200 XK, FHEEEEITAIBN. 126,
00 1500 20D 0 2500 20h | | o FEPKR
| | | CHIIHIE)
| | Y) ' l\__} \.,)/ N\_/ \_7 \_,)/ \_/\_7
- | g J MR BH A K FOKEE %
S o 3 o o |
3| o o -l & T = o @m = =
‘ bSi 1500 9 g 2800 N i Mok & E R M B A & I
' ' X Z L3 : 4
|ﬁ‘ 3 & 2 Ay %%711? 4 A4 — —mT
= % BEE F MAKBHIRELIR o
10 2400 1do 1715 | 3060 | 59
2600 R 1:500, 1:50 : s
_ _ | EJ [:3 [ ® 5
JKE& MR EFEA=1. 823m2 KRBT EFEA=1. 163m2 JK & B EAEA=1. 809m2 - . = "
® R AR 3%|
XOKEEMTEFE(ZCADY 7 I*__EFHL\'CEHL i
KEESOKBRIE AT FETKBERS YEE, ﬁ @\ B fﬁ




